Ratio and Proportion

Exercise-1
1. (@) 3:4 (b) 4:7
2. (@) 25:13  (b) 13:25
(c) Total number of students = 25+13=38
Required ratio = 25:38
3. @ 17:24  (b) 24:17

The two ratios are not equal.

Exercise-2

1. (@) T36:T40=20_364_9 .o
| 40 20-4 10

(b) 44:99 = 22 _4+11_4_ o

99 99+11. 9

(c) 45¢:30¢ = 45_ﬁ 5 3:2.

30 30+15 2

~ (@ 6months: 3 years=6months: 36 months= 0 - 076 _1
. ' 36 36+6 6

(e) 2kg:250g = 2000g:250g = 2000 _ 2000250 _ 8
‘ 250  250:250 1

(f) 75p:T225=75p:225p = L0 _ 7575 1
25 225:75 3

= J8.

() 600m: 1.5km = 600m:1500m =200 _ 600+300 _2 _, .
1500 ~ 1500-300 5

(h) 24cm:4m = 24cm:400cm = 2% _ 24+8 3
400 400 + 8 50

— = 3:50 -

. 380 380+380 1
(i) 380g:1kg900g = 380¢g:1900 ¢ = = ==
BiT46 718 8 - 1900 1900+380 5

|
|
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(j) 3hours 20 minutes : 1 hour 30 minutes

200 200+10 20

=200 minutes : 90 minutes = = = — = 20:9.
9  90+10 9
2. Guitar players : Piano players = 32:24 = 2_52:8. 2. 4:3
24 24+8 3

Thus, the ratio of guitar players to that of piano playersis4:3.

. Number of books = 28
Number of notebooks = '42
Total number of books and notebooks = 28 +42 = 70

;28/2

(a) Books:Notebooks = 28:42 = = 2:3.
_ A,

wilnN

(b) Notebooks : Total number of books and notebooks = 42:70

3
= ===23:5
75, 5
. Mohan's ag'e,> = 9years
His father's age'= 36 years
Sum of their ages = (9 +36) years = 45 years.
Difference in their ages = (36—9) years = 27 years

1
(a) Mohan's age : His father's age = 9:36 = ———-4— S 1:4.

1

(¢) His father's age : Differencein their ages = 36:27

=£:é:4:3'
Sr
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5. Income of Mr. Prasad = I 60,000

His expenditure = T 45,000 -
60,000 ~ 45,000) = T 15,000

Z 60,000 : T 45,000

M H ¥
His savings = ¥ (

(@) Hisincome : His expenditure =

4
6()9(—16__,6_(?__%:4:3

" uspe0 45,
(b) His savings : His expenditure = ¥ 15,000: < 45,000
1
— 15966: 15{ =l=1:3 .
45000 45, 3
(c) Hissavings: His income = ¥ 15,000 3 60,000
_ 15000 38 _1_ .,
60000 60, 4 '
(d) His expenditure : His savings = ¥ 45,000 : ¥ 15,000
_ 45000 _ 45" 3
15000 15, 1
Exercise-3
k) : 4
1 (@) 3:5=-and4:9 = o
LCMof5and 9 = 45
Now, LA LA and 4_ 4x5 _20
5 5x9 45 TR
Since, 27 > 20
45 45
2 > - or 3:5>4:9
5 9 b
Thus, 3:5 isgreater. 1
BB _4l _ 4T _ g _ M\ PN : ?
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2 5
3==and 5:6 = —
(b) 2 3 0

LCMof3and 6is6.

_2x2_4 .5 5x1 5
: Now, 3x2 6 6 6x1 6
Since,

or 5:6>2:3.

SaNjor o Wi
\" A\

WIN o

Thus, 5: 6 is greater.
3 35

i 45 5
- . =—=— 2l=—=—
4 (c) 45:30 30 2 and 35 1-3

LCMof2and3 =6

—5- > -?1 or 35:21 > 45:30.
3 2

e

Thus, 35: 21 is greater.

50 5
(d) 50:70 = — ==
) 70 7

40 4
40:90 = — ==
i 0 9

LLCM of 7 and 9 is 63.

-5- > fl- or 5:7>4:9 or 50:70>40:90
7 0o s o

Thus, 50 70 is greater.

e 7 R lln&l\nrﬁﬁ.ﬁhﬁ-‘ "fnrm.‘.ﬂ\
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. 11 -8
@ 3:7 < 2 (b) 8:11 = =
3 3«2 6 3 _8x2 14
iy 1 11x27 %
3_3)(3—_9_ §~873 24
7 7x3 21 11 1123733
3_3x4 12 8 _8x4 3
7 7x4 28 11 11x4 "3
3:7=6:14=9:21=12.78 8:11=16:22=9, 33+
-32:4%
3
(c) 36:54 = 36 (d) 48:6p - 48
54 : | 60
36 _36:2 18 48 4812 o4
54 54:2 oy 60 60+2 3
36 _36:3 12 48 48:3 14
54 54:3 1g 60 603~ 39
36 _36+6_6 48 _48+4 1o ?
54 546 9 60 60-2 13 ’

48:60=24:30~16:20-12:55

3. (a) E
5

3x4=12, 5x4 = 7. Thus, 3:5=12:[20

?
® B_L]
16 8

16+2=8, 18+2=9, Thus, 18:16 =[9 .8

(c)

6
7 2]’
6% 6=236, 7x6 =42, Thus, 6:7 = 36:[42
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(@ ==

777=49, 2#7=14. Thus, [[4):49 = 2: 7

6cups 12 cups

I ee——

18 cupcakes [ 7]

6 12
== U Here, 67(2= * =
il 12, 18x2 =36

Mrs. Roy will make 36 cupcakes.

120 km 360 km

3hours | ? |
120%3 = 360
So, 33 =9

The car will take 9 hours to travel 360 km.

| o
Cost of tomatoes per kg for Rohit=% % =321

. 590
Cost of tomatoes per kg for Anuj =3 s

The tworatiosare21:1and 90:4.

2.1=21_21x4 84
1 1x4 4
. 84 90
Sine — < =
4 4

Therefore, Rohit made a better bargain.

Exercise-4
(a) Sum of the terms of theratio=3+7=10
B repilie. % 3108 = T3x10 = T 30

Second share = -l%x?lOH =3¥7x10= 70

. . bl amabian B iTauwa.
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(b) Sum of the terms of the ratio = 6+11=17 K

6 5 -
First share = 1/7 X }%/ = 6x5 =30 t

Second share = X ﬁsl 11 x5 =55

yf

1

(¢) Sum of the terms of the ratio = 4+5=9

4 50
First share =— X 450 g=4x50g =200g

iy
5 50
Second share -y x 450 g=5x50g =250¢g
1
(d) Sum of the terms of the ratio = 4+7=11
First share = —— x 6655 = 4x 605 = 2420
pt
4 605
o x 6655 = 7x 605 = 4235

(e) 7kg200g = (7000+200)g = 7200 g

Second share =
1

Sum of the terms of theratio = 3+5 = 8

First share = — ZZG/ g =3x900g = 2700 g = 2kg 7008

/8’

00
Second share = 7 X Z’A’ﬁg g = 5x900g = 4500g = 4kg 5008

(f) 27 400 m( = (2000 +400) m¢ = 2400 m¢

Sum of the terms of theratio = 1+5 = 6

| 400 :
First share = ~ x 2400 me= 1x400m¢ = 400 mé

N = [
Second share = ——SZ X 24G0/ ) m¢? = 5x400m¢ = 2000 mié =2
1

P 2
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. Gum of the terms of the ratio = 9411 = 20

. _‘___?_ 200
part's share =~ 24000 = T9x200 = T 1800

1

. 11 200
julic’s share =~ 24000 = 311x200 = T 2200

1

gum of the terms of theratio = 5+8 = 13

5
Wie'sshare == X 265000 = 25x5000 = T 25000.

1

' ) 8
Daughter's share = — x 265000 0 28 x5000 = T 40000.

]

Sum of the terms of theratio = 5+7 =12

5

b73
Second share = /]7&, X ,4'8/4cm= 7x4cm = 28 cm.

1

Thus, the lengths of two parts are 20

4
><,4'8/cm = 5x4cm = 20 cm.

First share =
1

cm and 28 cm.

40kg500g = (40000+500)8 = 40500 g

Sum of the terms of the ratio = 8+7 = 15

b8 40s007 g= 8x2700g = 216008 = 21K8 600 g

1

Socond share = — x 40500 g=7x2700g=18005=18k8 900 g

|

So, the weights of two bags are 21 kg 600 g and 18 kg 900 g.

Exercise-5
s = 7x30=210
5x 42 =210
= Product of means

- (@) Product of extreme
Product of means =
Product of extremes

Hence, 7, 5, 42, 30 are in proportion.

- mll—dilamantire R ITarm.2)
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(b) Productof extremes = 3x44 = 132
Product of means = 11 x33 = 363
Product of extremes # Product of means

Hence, 3, 11,33, 44 are not in proportion.

(&) Product of extremes =10 x 13 =130
Product of means =14 x9 =126
Product of extremes # Product of means

Hence, 10,14, 9, 13 are not in proportion,

(d) Product of extremes =3 x 24 =72
Product of means=4x 18 =72
Product of extremes = Product of means

Hence, 3,4, 18,24 are in proportion.

- Product of extremes = Product of means

First term x Fourth term = Second term x Third term
=5x88 = Second term x 55

Exs8
B
Thus, the second term of the pfoportion is 8.
. Given that,
length : width :: 5:3
45:width :: 5:3
= 45x3 = widthx5

A’5/9x3

= Width = ,5/ =9%x3=27m.
1

= Second term =

Thus, the width of the cloth is 27 m.
. Given that,
Boys:Girls :: 7:3
= Boys:240 :: 7:3
= Boysx3 = 240x7

80
7 %

= Boys = ___Ezﬂi_ =7 % 80 = 560,
1

Thus, the number of boys is 560.
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Ratio of milk and water=1:3

Quantity of water=90m¢

S0, 30 m¢ milkis used.
_ Given that,
Ratio of heights of Sushil and Manoj=4:3
Height of Sushil=1.6 m
4:3:: 1.6 :@

— 4x(?)=3x1.6

Thus, the height of Manojis 1.2 m.

Mental Maths Corner
1) 2. 3. (d) 4. (b)

Review Exercise

2000
1. (a) 20:50p = 2000p:50p = 0 =40 = 40:1

(b) 47 900 m¢ :5600 m¢ = 4900 m¢ :5600 m¢

2. Total students trained = 96,
Number of students selected = 54
Number of students not selected = 06-54 = 42

P77 Y Mathematics-5 (Term-2)
Scanned with CamScanner




(a) Total students trained : students selected

16
96 —16=16:9

= 96:54 = 22 =22
54, 9
(b) Selected students : non-selected students
9
= 54:42 = ’54/ =2=9:7
7

- 10a.m.to6 p.m. = 8hours = 480 minutes

Duration of lunch break = 30 minutes
Working hours = (480 - 30) minutes = 450 minutes
lunch time : working hours

= 30 minutes : 450 minutes

1
30 1 ‘
= Y———=—=1:15
430, 15
Thus, the ratio of lunch time to working hoursis 1:15.
Z 3.1 7 8:13 :
. @ 7:11 = 11 13 =3

LCMof1land 13 = 11x13 = 143

7 _7x13 _91 8 8xl1l 88

11 11x13 143" 13 13x11 143

N ﬂ. > _Si or 7 8
oW 113 T 13 11 ~ 13

Thus, 7:11 | >| 8:13.

45 45+9 5
== ==
(B) 4555 54 54+:9 6
50 50=10 5
20:60 = o = 60e10 ¢

5 _ 5

6 6

Thus, 45:54 | = | 50:60.
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]
(© 3:7=3 and 8:28 =5 _ 8+4 o2
28 284 7
3 2
> =
7 7

Thus, 3:7 | >| 8:28.

~ um of the terms of the ratio = 9+14 = 23

9 2
Rohit'sshare = 5 x¥ 46600 ok ¥9x2000 = T 18000

1

14
24

S0, Rohit and Aman will get ¥ 18,000 and ¥ 28,000 respectively.

2000
x¥ 46000 = T14x2000 = ¥ 28000

Aman’sshare =

6. (a) Productof extremes = 7x90 = 630
Product of means = 8 x84 = 672
Product of extremes # Product of means

So, 7, 8, 84, 90 are not in proportion.

(b) Product of extremes = 112x5 = 560
Product of means = 140x4 = 560
Product of extremes = Product of means

So, 112, 140, 4, 5 are in proportion.

7. Income:Savings=7:3

= Income:¥36000=7:3
= Income x3="7x3T 36000

i 12000
7”3;306 _ 784000
: _

, So, the income of Mr Shérma is< 84000-. ‘

T T A_._.
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8. Product of extremes = Product of means
First term x Fourth term = Second term x Third term
o’ 57 x 85 = 95 x Third term

3’57’><}}5]7
955,

) Third term = =3x17=5].

Thus, the third term is 51.

HOTS

1. Siddharth gets double of what Sameer gets and Sameer gets doy,
of what Aakash gets. '

So, ¥ 30,100 will be divided in the ratio 1 : 2 - 4 among Aay
Sameer and Siddharth. '

Sum of the terms of the ratio = 1+ 2 + 4 =7

Share of Aakash =% x 30,100 = ¥ @ = 34,300

Share of Sameer =2 x share of Aakash=2x%4300=% 8,600
Share of Siddharth = 2 x share of Sameer = 2x X 8,600 = T 17,200

So, ¥ 30,100 will be divided among Aakash, Sameer and Siddhari
as 34,300, ¥ 8,600 and ¥ 17,200 respectively.

2. Costoftea = T 85 per kg.
Costof coffee = ¥3.40 perl0g
= ¥ 3.40 x 100 per kg
= Y340 perkg
Ratio of price of tea to coffee = 7 85: X 340
B 1,
340,, 4

S0, the ratio of price of tea to coffee is 1:4.
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